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Strukturovane reseni
manazerskych
problému

Model poradenské organizace



Obsah bloku

— Strukturovany postup
vymezeni problemu a jeho
pricin

— Poradenstvi jako produkt —
business model poradenskeé
organizace
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Pristupy k reseni problemu
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Risk of untested
solutions

Guessing

Structured
problem
solving

Creativity

Experience-
based

Analysis solely
driven by
frameworks

Risk of copying Analysis
past solutions for
wrong problem

> Risk of too broad scope

because focus on
analysis instead of
problem

m =

(QEp Y e
(- i——
— ]



Strukturovany pristup k diagnoze

What is the Where is .
problem? the Why does the problem exist?
problem?
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gap causes question
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Vymezeni probléemu

— Klient definuje problem —
overit

— Definice problému jako
,Jresult gap”

Client’s
result
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Podstata problemu (CO?)

Result YT A: achieved result
B: expected result
YA | B
. Client’s i
Descriptive questions  Explanatory questions Prescriptive questions result
| O — == ——— gap forY |
What is happening? Why is this happening? How should we address this problem? j I‘
V| Y e '
Do we have a problem?  Why do we have this problem?  Should we do this to solve this problem? ’ A : :
Which of these alternative solutions shoukd | i ':
) B B we take? J l |
FIGURE 6.1 Types of questions the | “ -
ypes of g 18 that prospects may have o
Client’s Result X
result gap
for X
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Logické strukturovani (pfié¢in) problému (PROC)

Musi byt soucasti
podstaty problemu a « Mohou byt pFiiny poklesu zisku Trzby, Naklady, Reputace?
vysvetlovat ji

wrws

Vzéjemné exkluzivni  Je spravne stanoveni pfiCin problému vysokych vyrobnich
: nakladu takto: Nizké vyrobni mnozstvi, vysoka kvalita
(mUtua”y eXCIUSNe) vyroby, vysoka produktova diferenciace

Kolektivné vyéerpévaj ici B Chybi neco? Vysvetleni poklesu trzeb (podnik pusobi v '
: ) nekolika zakaznickych segmentech na urcCitém produktovem
(COlethely eXhaUStlve) trhu) — pokles poptavky, pokles podilu v ramci segmentu
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V4 ° 1 1 )4 4 r) o v ’
Analyza stakeholderti 1. Kdo je ovlivnén problemem? Kdo kvuli nému trpi a kdo

naopak z néj benefituje?

2. Kdo problém zpusobil?

Client's
J 7 shareholders o
Client's T Clienrs O\ 3. Kdo je nezbytny pro vyfeSeni problému, at uz ve fazi
! _‘\govemment supervisors )
a4 T — hledani problému feseni nebo implementaci?
S ) managers L. . , v s
e & L 4. Kdo ma zajem na tom, aby projekt nebyl uspéesny a
\\ suppliers /;‘ _\L / Client's \
/ = — ) e ’ v v o w o . .
T e R i problém se nevyresil? Kdo muze zpusobit, aby projekt
| S —
‘x\ customers
R nevyéel? Stakeholder
power
it ||,
o
i
P () 1 “ e Fully aligned

Stakeholder  Conficting |
alignment with client 0O

———+———1 withclient

—
—_—

conflicting
stakeholders

i

O Stakeholders
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Ukol1 (max 30 minut)

— Vzdelavaci instituce stoji momentalne pred problémem
rostouci fluktuace zaméstnancu a jejich vnimané rostouci
nespokojenosti. Problém je definovan nasledujici
otazkou: Co by mela vzdelavaci instituce udelat, aby
doslo k poklesu fluktuace zaméstnancu o 10 % poklesu
nespokojenosti o 20 %. Kdo jsou stakeholderi, se
kterymi se v ramci reseni problému setkate a jakou
strategii byste k nim meli zaujmout?
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Dekompozice problemu a lokalizace (KDE?)
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Profit gap

Revenue gap CDS:;%EEP
g/ﬁizzi< }M\
Volume gap Price gap Variable costs Fixed costs gap
g0k 10% gap s% 5%
(200Ms 1) (25M § =) (12.5M ¢ ) (12.5M ¢ )
Volume gap
(100%)

Volume gap
country A

Volume gap Volume gap
country B country C
(20%) (10%)

Volume gap Volume gap volume gap Volume gap I\/I U I\I I
Super markets Gas stations Hospitality vending machines
(40%) (20%) channel (5%)
(5%) E C O N




Prace s teoretickymi ramci (mozné oblasti

NV ¥ =1

prisin

Macro-
environment

Industry

Multi-business
corporation

Mono-business
Company

-

)

Industry Life

Competitive
Forces

Value Net

Technology
Adoption Life
Cycle

Value Chain

Sales funnel
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NV ¥ =n

Mozne vysvetleni pricin problému — propad
v objemu prodanych siluzeb

" Hasthe segment é Has X’s share of the
rowth) declined? | ) segment declined?
'(g ),_ ~C Why? % = (1 Why? D
£ Candor Candio)
e S . (CE— » - ¥ »'__\'_‘* / \
; ' 2 Have Has X's
{ | Hasthe | | Hasthe
| Hasthe | | mber of| budget of | | Sustomers SRR Has X bad
is:?ugrm?: \customers| |customers Rched T TIEERS Ky a supply
| ' | declined? | | declined? substitute segrnent problem?
; | | | products? declmed?g,,_l :
ESh s i R - Why? ’
> il nd/
e
Have T
customer Has
needs or competition Has X
preferences increased? weakened?
changed? I\II
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Problem klienta — vyuzit prilezitost

Why does the opportunity exist?

\

Where is the% is the
opportunity? opportunity?

)

Seg"’e’[t\ |dentify the

Identify Test dri Formulate
possible Structure hes ;lwe.r Accept it the key
drivers possible drivers ypothesis driver resultgap question
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Select next
driver
hypothesis

Iterate

the result
gap /

A positive disturbing event for
the client allows that client to
increase its desired result. The
idea is that the positive
disturbing event allows client
to achieve a highered desired
result. Client/or consultants
perceive an opportunity for
the client.




Ukol 2: Dekomponujte nasledujici problém

— Uvod: Firma “GastroDelight” je Fetézec restauraci plisobicich po celé Ceské republice. Po nékolika letech stabilniho riistu a
ziskovosti se firma v poslednim roce potyka s vyraznym poklesem ziskovosti. Vedeni spole¢nosti se rozhodlo obratit na manazerské
poradce s cilem identifikovat pfi€iny tohoto poklesu a navrhnout strategie pro obnoveni ziskovosti.

— Cil: Vasim ukolem je analyzovat situaci firmy GastroDelight, identifikovat mozné pfi€iny poklesu ziskovosti a navrhnout konkrétni
opatreni, ktera by vedla ke zvySeni ziskovosti podniku.

— Pozadi:

- Firma GastroDelight byla zaloZena prfed 10 lety a rychle se rozrostla na 50 pobo&ek po celé Ceské republice.
 V poslednich péti letech firma vykazovala stabilni rist trzeb a ziskovosti.
» V poslednim roce vSak doslo k poklesu ziskovosti 0 15 %.

« Ukoly:
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Doporuceny postup pri reseni u

manazerskeho poradenstvi (Case interview)

2.

ok w

Nacrtnéte si situaci — porozumeéni zadani

,Clarifikujte* situaci (clyrifying questions) - objasnéte si, zda je potfeba néjakych dalSich dat,

ale uvedte jakych? Konkrétni dotazy — porozumeéni problému
Diskuse nad zvolenym ramcem — strukturovani problému
Kvantitativni vyhodnoceni situace — vyhodnoceni problému
Kreativita a doporucéeni — vyreseni problému

Prompt & Exhibits & Brain- Conclusion/
Clarifying Q. Analysis storming Next Steps
CLARIFY DECOMPOSE STATE SUMMARIZE
PROBLEM PROBLEM HYPOTHESES FINDINGS

m =

(QEp Y e
(- i——
— ]



M =
) G
O =
—

Business model
poradenske organizace = &
e

:

z



Hodnotovy retezec poradenske
organizace

— Prodej pFedchézi vykonu

— Nabidka sluzeb namisto
fyzickeho produktu

— Chybi vstupni a vystupnf
logistika i e X

— R&D o0 znalostech nikoliy ] e e e e [ yy
o fyzickém produktu

— Recruitment nahrazuje —
nakupovani

—
—_—
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Cinnosti poradenské organizace

Primarni aktivity Podpurné procesy

Marketing Nabor

Prodej Knowledge management

Project design Rizeni lidskych zdrojd

Sbér dat Leadership a ostatni podpurné funkce
Analyza dat

Tvorba rad

Asistence s implementaci
CRM



Outsourcing

— Qutsourcing primarnich cinnosti - Ano Ci ne?

— Pripadova studie EVALUESERVE https://www.evalueserve.com/

—V Cem je rozdil pro management firmy pri outsourcingu primarnich
cinnosti vs. sekundarnich?

— Jakeé jsou argumenty pro a proti outsourcingu primarnich cinnosti

— Jaky dopad ma outsourcing primarnich Cinnosti na poradenstvi?

I
p—
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https://www.evalueserve.com/

Business model poradenskeé organizace
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— A business model describes the rationale of how an
organization creates, delivers, and captures value, in
economic, social, cultural or other contexts (Business

Model Generation, Alexander Osterwalder, Yves

Pigneur, Alan Smith, and 470 practitioners from 45
countries, self published, 2010
— Business Model as the blueprint of how a company

does business (Osterwalder et al., 2005)
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https://en.wikipedia.org/wiki/Alexander_Osterwalder
https://en.wikipedia.org/wiki/Yves_Pigneur
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Business Model Canvas

Desigred for:

Startup Name

The hiicinece mndel canvAac

Deszigned by:

Name1, Mame2, ...

Diate: Varsion:

DD/MMY Y Y'Y Xy

Key Partners .i’ﬂ"’??"

Who are our Key Partners?
Who are our key suppliers?
Which Key Resources are we
acquiring from partners?
Which Key Activities do
partners perform?

MOTIVATIONS FOR
FPARTMERSHIPS:
Optimization and economy,
Reduction of risk and
uncertainty, Acquisition of
particular resources and
activities

Key Activities [f,

What Key Activities do our
Value Propositions require?
Qur Distribution Channels?
Customer Relationships?
Revenue streams?

CATEGORIES:

Production, Problem Solvings

Platform/Network

Value Propositions o

What value do we deliver to
the customer? Which one of
our customer's problems are
we helping to solve? What
bundles of producis and
services are we offering to
each Customer Segment?
Which customer needs are we
satisfying?

CHARACTERISTICS:

Key Resources @

What Key Resources do our
Value Propositions require?
Our Distribution Channels?
Customer Relationships
Revenue Streams?

TYPES OF RESOURCES:
Physical, Intellectual (brand
patents, copyrights, data),
Human, Financial

Mewness, Performance,
Customization, “Getting the
Job Done”, Design, Brand/
Status, Price, Cost Reduction,
Risk Reduction, Accessibility,
Convenience/Usability

Customer Relationships (/

What type of relationship does
each of our Customer
Segments expect us to
establish and maintain with
them? Which ones have
established? How are they
integrated with the rest of our
business model? How costly
are they?

Channels \._@

Through which Channels do
our Customer Segments want
to be reached? How are we
reaching them now? How are
our Channels integrated?
Which ones work best? Which
ones are most cost-efficient?
How are we integrating them
with customer routines?

e ]

Customer Segments ﬂé

For whom are we creating
value? Who are our most
important customers? Is our
customer base a Mass Market,
Niche Market, Segmented,
Diversified, Multi-sided
Platform

Cost Structure

What are the most important costs inherent in our business model? Which Key
Resources are most expensive? Which Key Activities are most expensive?

IS YOUR BUSINESS MORE: Cost Driven (leanest cost structure, low price value
proposition, maximum automation, extensive outsourcing), Value Driven (focused on

value creation, premium value proposition).

SAMPLE CHARACTERISTICS: Fixed Costs (salaries, rents, utilities), Variable costs,

Economies of scale, Economies of scope

Revenue Streams é

For what value are our customers really willing to pay? For what do they currently
pay? How are they currently paying? How would they prefer to pay? How much does
each Revenue Siream contribute to overall revenues?

TYPES: Asset sale, Usage fee, Subscription Fees, Lending/Renting/Leasing,
Licensing, Brokerage fees, Advertising
FIXED PRICING: List Price, Product feature dependent, Customer segment
dependent, Volume dependent
DYNAMIC PRICING: Negotiation (bargaining), Yield Management, Real-time-Market

Designed by: The Business Model Foundry (weew businessmodelgenarafinn comicanvas ). PowarPoint implementation by: Neos Chronos Limited (bitps-inegscheonas com). License: GO BY-SA 3 0
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Zadani ukolu

— Vyberte si sami jakoukoliv poradenskou organizaci, zjistete si o ni
dostupné informace a vytvorte jeji Business model canvas.
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Business model poradenskeé organiz=22

&M j\, y
e

V4 ’ ) N\ o,

_ Z&kladni prvky business modelu *:.;f V)
— Jakou pozici bude mit poradenska firma na trhu

Cilovi zakaznici, cilovi zaméstnanci,

Jakou hodnotu nabizet zakaznikim, typem poradenstvi, role poradce, rozsah poradenskych sluzeb

— Jaké kompetence je tfeba rozvijet a vyuzivat s ohledem na hodnotu pro zakaznika

Jaké Cinnosti (value-adding) budou vykonavany za ucelem tvorby hodnoty pro zakaznika
Jaké kompetence jsou nutné pro uvedené aktivity
Jaka organizace muze rozvijet a zajistit pozadované kompetence
— Jak pusobit na pracovnim trhu (jak se umistit)

Na jaké zaméstnance se zacilit s onledem na potfebné kompetence
Jaké hodnoty nabidnout témto zaméstnancum

X

—
—_—
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18. 10. 2024 o _ i
Konkurencni strategie poradenske

organizace

. Hodnot klienta (Client
Strategie odnota pro Kkl (Cli

value proposition)

Brain consultancy Inovativni reseni (product

Software-based / leadership)

consultancy Nizké naklady reseni

Procedure consultancy / (operational excellence)

Grey hair consultancy —— Uzky vztah mezi klientem a
poradcem (client intimacy)

z >
High :
) - = TABLE 7.1  Relations between competitive advantage and value activities

Software-based consultancy

==

Level of

codification of a ( 5
consultant's

Procedure consultancy

solution Management
consultancy
( service
Brain i
Grey hair consultancy
consultancy
Low { @ )
- >
No Familiarity of clien High

ent's
problem to consultant




